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Q.1 Compare the following

(a)6300 (< |
(d) 3248 [ ]
(9)9919 (> ]

Q.2 Rewrite the following in increasing order.
(@) 3952, 7929, 4369
(c)9800, 9080, 9008

Q.3 Rewrite the following in decreasing order.
(a) 3080, 2735, 1762
(c) 5432, 5234, 5423

9300
3468
19

(b) 3560 (< ] 3660

(e)938 (<
(h)6190 (<

(b) 5496, 5694, 4946 Ars-
(d) 2828, 8228, 2288 Ans- 2288,

(b) 3782, 3872, 3508 Fme-
(d) 1020, 1200, 1003 Aw- 1200, 1020, &

1234
6196

.

(c)5037(< ] 5087
(18991 (<] 9914
(i)7738 (<] 7783

4a46,5496,569
2828, 8228

2832 ,3382, 3500
1003
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Q.7 Give the number

1 morethan 2696 = 269 F

1 morethan 3999 = L 000

1 morethan4700 = Y7+ |
1lessthan2340 = 2239
1lessthan2999 = 2998
1less than 8000 - '»? “3‘?‘5‘7"’!
10 more than 2953 = 04 3
10 morethan 3415 - 2425

10 morethan4005 = 40 |<

10lessthan 3271 = 226
10lessthan2565 = 2 555
10lessthan 3704 = 2694

100 more than 3284 = 2 38Y
100 more than 9103 =92.03
100 morethan 5012= 5112
100 less than 1100 = | 00O
100 lessthan 4831 -4+ 23]
100 less than 6326 = £2.2.4
1000 more than 2738 =2428
1000 more than 6950 = +450
1000 more than 3681 = L1443 |
1000 less than 1630 = ‘620
1000 lessthan 4238 - 322%

1000 lessthan 4158 = 3| 58



